ECON 3345
Fall 2007

Prof. Barage

Multiple Choice Exam Prep Quiz;

We will go over this in class Tuesday December 19th, 2007. ATTENDANCE IS MANDATORY!

	Question 1

Consider the following graph.




	a. MRT is less than MRS 

b. MRT is greater than MRS 

c. MRT is equal to MRS 

d. MRT has no determinate relationship to MRS


	Question 2

Consider the case in which a country’s PX/PY in autarky is less than the PX/PY on the world market. This country has a comparative advantage in good _______. 

If the country then engages in international trade and moves along its production-possibilities frontiers, its production of good X will _______.
 


	a. X; decrease 

b. Y; increase 

c. Y; decrease 

d. X; increase


	Question 3

Suppose two countries with increasing opportunity costs have identical PPFs but different tastes. They will have
 


	a. different relative commodity prices under autarky, so each will gain by exporting the good for which its consumers have the lower relative preference.
  

b. identical relative commodity prices under autarky, so there is no motivation to trade.
  

c. different relative commodity prices under autarky, but there will still be no motivation for them to trade.
  

d. different relative commodity prices under autarky, so each will gain by exporting the good for which its consumers have the higher relative preference.


	Question 4

Assume, in deriving an offer curve for a country, a higher price of exports/price of imports leads to reduced quantity of exports that the country is willing to supply. 

In this range of the offer curve
 


	a. the offer curve is said to be unit-elastic. 

b. the offer curve is said to be inelastic. 

c. the offer curve is said to be elastic. 

d. an answer cannot be determined without more information.


	Question 5

Consider the following offer curve diagram.
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In this case with one normally-shaped offer curve and one straight-line offer curve, Germany is exporting good _______, and __________ is a “small country” in this particular situation.
 


	a. Y; France 

b. Y; Germany 

c. X; Germany 

d. X; France


	Question 6

If country X is defined as relatively capital-abundant in relation to country Y by the price definition of factor abundance, then the price of labour relative to the price of capital is _______ in country X than in country Y. 

In addition, the Heckscher-Ohlin theorem would suggest that country X would export relatively ________-intensive goods to country Y.
 


	a. lower; capital 

b. higher; labour 

c. lower; labour 

d. higher; capital


	Question 7

What does the magnification effect refer to, in the case when a country is opened to trade?
 


	a. the price of the abundant factor rises faster than does the price of the export good 

b. the price of the export good rises 

c. real income is magnified even though the PPF does not change 

d. the price of the scarce factor rises


	Question 8

Consider a country relatively capital-abundant by the physical definition of factor abundance, but relatively labour-abundant by the price definition of factor abundance.

This situation is associated with _______ reversal. Heckscher-Ohlin analysis would suggest that the country will export the ________.
 


	a. demand; capital 

b. demand; labour 

c. factor-intensity; capital 

d. factor-intensity; labour


	Question 9

Which statement best represents the situation described by the product cycle theory?
 


	a. A country that successfully introduces a new product into world markets will remain a permanent net exporter of it.
  

b. Factors of production are assumed immobile between countries.
  

c. Factor prices play no role in trade patterns, since the theory is offered as an alternative to the factor endowments approach.
  

d. There is evidence that developing countries may export older products, and this is consistent with the theory.


	Question 10


Consider the situation where a country exports and imports goods in the same product classification category. This is known as _________ trade. 

In the real world, such a trade situation is likely to be _________ associated with country per capita income levels.
 


	a. inter-industry; positively 

b. intra-industry; negatively 

c. inter-industry; negatively 

d. intra-industry; positively


